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B () A ) 7,107,647 6,523,485 584,162
o 6,889,777 6,334,479 555,298
= &g H| 6,889,777 6,334,479 555,298
101 <1744 6,222,017 5,676,199 545,818

3,180,945 2,838,216 342,729 |01 71&5 3,180,945

Oea 2,936,257

O3 (28%5%) 3,261,70099%1 129 = 39,141

O3 (255%) 2,876,300 27 124 = 69,032

O2W7 (255 %) 2,566,400 48«12 = 123,188
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A3 -39 - AR - FE of At ot AT oikd H 2 F 7+ A& =4
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OA A7 R =7 1]
(40,00099%100™ )+(30,0009+38% ) = 5,140
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0309 ©] & 350,000 =57 F- 1«12 = 21,000
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O3~ 155,000 %17 *12¢ = 31,620
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OAHF--&37%(87H)
OAHF&A = (871)
O=A M (107])
Og#HH - (5H)
Osllelde| A (t, 2th)
OdllolATi AU (4, 1d)
O=2%71(3d)
Ow#a(2d)
OAIg71(2dh)
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